

Subject:

Year: Month: Day:

Page: ()
دولت ایران اسلامی

$$1 \quad -r^4 \rightarrow \left[\frac{r - (-r)^4}{r} \right] = \frac{\varepsilon}{r} = r \Rightarrow 1$$

$$2 \quad 2 \times 1 + a \left[\frac{-r^4 + r}{r} \right] a = 1$$

$$3 \quad -r \rightarrow r \left[\frac{r - (-r)}{r} \right] + a \left[\frac{-r + r}{r} \right] =$$

$$4 \quad \varepsilon - a = r \Rightarrow a = 1 \quad \left[\frac{r}{r} \right] = 0$$

$$5 \quad \lim_{\frac{\pi}{4}} [r \sin u - 1] \Rightarrow \left[r \left(\frac{1}{r} \right) - 1 \right] = [0] = -1$$

$$6 \quad \frac{1}{r} \rightarrow \left[\frac{1 \times (-1)^3 - (-1)}{-1 + \frac{1}{r}} \right] \Rightarrow \left[-\frac{1}{r} \right] = -1$$

اینجا به دلیل اینکه عدد صحیح نیست نیاز به تبدیل داریم

$$7 \quad (10 \times (-\frac{1}{r})) - \omega + \left[\frac{3}{-1 - \frac{1}{r} + \frac{1}{\varepsilon}} \right]$$

$$8 \quad -\omega - \omega + 11 \Rightarrow \textcircled{1}$$

$$9 \quad 14 \times -\frac{1}{r} = -11 \Rightarrow \left[\frac{-r}{-1 - \frac{1}{r}} \right] \Rightarrow \frac{-1 - (-1)}{0} = \frac{0}{0}$$

$$10 \quad \frac{\sin^2 \pi}{1 + \cos \pi} = \frac{1}{0} = \frac{1 - \cos^2 \pi}{1 + \cos \pi} = \frac{1 - (-1)}{1 - 1} = \frac{2}{0}$$

$$11 \quad 4 - \cos \pi = 1 - (-1) = 2$$

$$12 \quad \Rightarrow \text{Hop} = \frac{r}{r \sqrt{1 + \mu}} - \frac{\mu}{r \sqrt{1 + \mu}} = \frac{1 - \mu}{1} = \frac{1 - \mu}{1}$$

$$\frac{2}{\omega} \Rightarrow \text{Hop} \Rightarrow$$

$$\frac{2 - \frac{1}{\sqrt{n}}}{2 - \frac{1}{\sqrt{n+1}}} = \frac{2 - \frac{1}{\sqrt{n}}}{2 - \frac{1}{\sqrt{n}}} = \frac{4}{\omega}$$

الرمز

$$\Rightarrow a + \sqrt{bx^0 + c} = s \quad a + \sqrt{c} = 0 \quad a = -\sqrt{c}$$

مربع

مربع

$$\text{Hop} = s \quad \frac{b}{\sqrt{bx^0 + c}} = \frac{1}{\omega} \Rightarrow \frac{b}{\sqrt{c}} = \frac{1}{\omega} \Rightarrow \frac{b}{\sqrt{c}} = \frac{1}{\omega} \Rightarrow \frac{b}{\sqrt{c}} = \frac{1}{\omega}$$

$$b = \frac{1}{\sqrt{c}} \quad \frac{1}{\sqrt{c}} \times (-\sqrt{c}) = -\frac{1}{\sqrt{c}}$$

$$\frac{-2\pi + \frac{1}{\sqrt{c}}}{\sin(-\pi)} = \frac{\omega - 2k}{0^+} = +\infty \Rightarrow \omega - 2k > 0$$

$$\frac{-2\pi}{0^-} = \frac{\omega + k \left[\frac{-2\pi}{\sqrt{c}} \right]}{0^-} \Rightarrow \frac{\omega - 2k}{0^-} = +\infty \Rightarrow \omega - 2k < 0$$

$$\frac{\omega}{\sqrt{c}} < k < 2 \Rightarrow \frac{\omega}{\sqrt{c}} - k < -2 \Rightarrow \omega < 2k \Rightarrow \omega < k$$

$$[-k] \Rightarrow -2$$

الرمز

$$\Delta a - b = 0 \quad \Delta a = b$$

مربع

مربع

مربع

$$\text{Hop} = s \quad \frac{1}{\sqrt{c}} = \frac{1}{\omega}$$

$$\frac{1}{\sqrt{c}} = \frac{1}{\omega} \Rightarrow \frac{1}{\omega} = \frac{1}{\sqrt{c}}$$

مربع